FET] Gp—Cp—2Zt

. - ol :
W [ M
91 2000 2000 2000 @2000 ‘
137 Fbk MI6X140
(@)
fg)
I==" == =——N == ¥ i/
—I = = = = = ES = = = = = L= = = = = = = — = 4x
17 1] NERN 1] <o |
—H1H = = = = = = = = = = = HiEE—— = = = = E——— E— = &
N (7] 1T M ©
—c1Ig = = = = = E= = = = = = o= = = = = = = = ] Rur e =
(@] | [e@]
€-Li4T $48.6%x2.4 % 0114.3x4.5 2 3
Iy
o
(@)
N
[@N]
V=LA Tiads v— L4 THES v =LA TIRES
(an)
=
M16x140 =
g) |
91
M14x64 M14x64 M14x64
%[‘ Hl H uu} % E) 7‘ % ‘7 % E) [\fu HH \fu] %
| | I | | I
$114.3 #114.3 114.3
C =LA T WFET 77y b Huft b b
M14x64
5—160BAIL $48.6X2.4
N 2-16¢ NL daEr= B
777777777777777777777777777777777777777777777777777777777777777 e ol 2.3
| | A S _/ . ‘L» |
- r-- o v B il wof o f ™ 64 1.5
00| o = — = = i
F < =l W
M16x140
0140 10,50 - 30|30 56 |24
[~
1968 1968 1=
20x30£4, 60 80 & o JBF 55 J@
3936 E— .|
140 3.0 13
MENLT 47 PETITy b
4-16%208BREL 1608 1608 @, 2-16X208REL N 20X 3DEA
M
o) - ) — ./ 316
’7[“* - 7 L *j f © r T - 7 f sy % 1
| © _ - | _ ol oy -
sl P& U o Lr TSt s e
3
- Y - = - 3.2 2524‘24.6
30040 | 62 | 62 | 4030 24.3 35|32] 62 |40|30 o 3o
264 2033 80




FET] Gp—Bp—2Zt

B S
W [ M
91 2000 2000 2000 @2000 ‘
137 F b M16x140
(@)
fg)
T = = = = = = = = = = HER=— = = = = = = — = o
1T 11 1T 1] QB
—€ = = = = = = = = = = L T—— = = = = e = — S e
ﬂiHr‘ = = = = = ‘—‘ = = = = TI I‘ = = = = = = M = = = < g o
A4 k4 kd o %
C-L/fT §48.6%3.2 % ft 6114.3x4.5 == !
Iy
o
(an)
Q2
v =LA TR =LA THEE =LA TRRFLR
=
M16x140 0
(
Q
91 B
M14x64 M14x64 M14x64
%[‘ Hl H uu} % E) 7‘ % ‘7 % E) [\fu HH \fu] %
| | I | | I
9114.3 9114.3 8114.3
C =LA T WFET 77y b Huft b b
M14x64
5—1608#1, $48.6%3.2
N 2-16¢ NL daEr= B
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 3 0o 2.3
| | A S _/ . | 20y
Yy Jo..._ v .. il of o TR |64 1.3
A i )
M16x140
0140 10,50 - 30/30 56 4
[~
1968 1968 1=
20x30£4, 60 80 & o JBF 55 J@
3936 E— .|
140 30 13
4—16X20BBER, 1608E1 16081 D—1BX22EBREI N YOX 3057
e 1 o 3
< —t ~ — —A #16
R R == S G = of [T TS & ik 2] g = I
slal o & oo S R i o jx [
: . o Jals] 7 : +
< 30140 62 | 62 | 4030 24.3 | |39|32| 62 |40]30| ~ 3 30!30 3.2 2524246
264 2233 60 e




G
%¢ ——
97 2000 2000 2000 2000
A s
thdfl R B %Wﬁ e i R
- ‘1‘*7 S e B e, s EESS
| \E—MM 960.5%3.8 | 2k 0139.8x4.5
I
€= LA T €= LA THEE €= LA THFE
M16%165 M16x165 M16x165
( (
) i
M16x78 90, M16%78 90
éém | L i g L
— = j @%r i i e @%r i
| | | | | |
#139.8 $139.8 #139.8
C-LrsT BET 7,
5-1898H, #60.5x3.8
,,,,,, 7 A S e o 2180 o
M N
S S (S-S /
A A ) A  — ¥ o] ot 7
ol < - 4— -
oy LA ::M
40 50 50_1 40 |
1968 1968 3 /sl 50 |30
3936 20x308%/ | 60 90
wF a7 AT
PEIT Iy
4-18x228BER, 189831, 1898381, 2-18x228HEN, —
Lo ‘)‘J Lo
P N 20%308%
I e Vel (R N 0 S A ] e :
s [0 & ool F G Eo] s» l—
=TT & e — —— | Rl [
wl 40| 50| 72 | 72 |50 |40 03 | |35032] 72 |50 40| B =B
324 259.3 =
30130
60

Gp—Ap—ZL

i @ X
160 £ b M16x165
(@)
o
e
o
~
~ fg)
o
o o0
o
| W0
(&N}
~-
'e)
M~
=
o
o
f'g)
©
|
A b
M16x78
M~
e e
ol 27
78 12.7
M16x165




